Answers Monday 27/4/20
Reading The Wexbridge Crier
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. 19th October 1943

. Hundreds

. The radio had packed in (broken)
. 15 minutes

. The North Sea

: Shocked and happy before becoming worried and nervous
: Joyously

: A pigeon was used to send a message to the air base in time

: Any suitable prediction based on research or other understanding of the war

: People fighting on the same side or for the same outcome
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4b. B = 18m?
5a. True 5b. False
6a. More 6b. Less
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Expected

4a. Approximately 15cm?

5a.Tom is correct because the shape
covers approximately 6 squares.

6 x 5cm? = 30cm?

6a. Various answers (covering 4 squares),

for example:

£

Expected

4b. Approximately 12cm?

5b. Ellie is incorrect because the shape
covers approximately 7 squares.

7 x 4cm? = 28¢cm?

6b. Various answers (covering 5 squares),
for example:

N
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Expected Expected

5a. B. 14cm? 5b. C. 1,800mm?
6a. 10cm 6b. 12cm
7a. 12mm? 7b. 30m?

8a. B has the largest area; A = 15cm?, 8b. A has the largest areq; A = 1,600cm?,
B =20cm? B =1,100cm?
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4a. Amy is incorrect. She has multiplied
the base by the height but has forgotten to
divide the answer by 2. The area of the
friangle is 33cm?, not é6cm?.

50.40m?2 8m x 4m + 2 = 16m2x 2 = 32m2;
4m x 4m * 2 = 8m?; 32m? + 8m?2 = 40m2.

éa. Triangle 1 = 8m (base), 2m (height);
8m (base), 2m (height);

= 8m (base), 2m (height).

Expected
4b. Ed

correct. 14cm x 5¢m = 70cm?;

70cm2+ 2 = 35cm2.

5b. 57m? 6m x ém + 2 = 18m?x 2 = 36m2,
7m x 6m = 2 = 21m?% 36m?2 + 21m? = 57mo,
éb. Triangle

=7m (base), 4m (height);
7m (base), 4m (height);
2m (base), 4m (height).





